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Please name the ISSP module which the documentation refers to: 
Role of the Government IV. / ISSP 2006 
Please name your country: 
Czech Republic 
 

SEX - Sex of respondent 
 National Language English Translation 
Question no. 
and text 

T1. Pohlaví respondenta: T1. Sex of the respondent: 

1) Muž 1) Man 
2) Žena 2) Woman 

Codes/ 
Categories 

  
Note Interviewer observation 

Construction/Recoding: 
Country Variable Codes (in translation) Î SEX 

1 Man 1. Male 
2 Woman 2. Female 
not used 9. No answer, refused 
 

AGE - Age of respondent 
 National Language English Translation 
Question no. 
and text 

S1. Ve kterém roce jste se narodil/a? S1. What year were you born? 

Interviewer 
Instruction 

POKYN: NEODPOVĚDĚL(A)=99. INSTRUCTION: NO ANSWER=99. 
 

Note coded in two digits  

Construction/Recoding: 
 Country Variable Codes/Construction Rules  ÎAGE 

Construction constructed from date of birth (106- S1)  
Codes  [lowest] 
  [highest] 
 age=7 ,i.e. 99 NA in question S1, sysmis 99. No answer, refused 

 
 

MARITAL - R: Marital status 
 National Language English Translation 
Question no. 
and text 

S10. Jaký je Váš rodinný stav? S10. What is your marital status? 

1) Ženatý, vdanáÆ POKRAČUJTE 
OTÁZKOU S12 

1) Married ÆGO TO QUESTION S12 

2) Vdova, vdovec 2) Widowed 
3) Rozvedený, rozvedená 3) Divorced 
4) Ženatý, vdaná - žijící odděleně 4) Married - living separately 
5) Svobodný(á)  (nikdy ženatý, vdaná) 5) Single (never married) 

Codes/ 
Categories 

9)  Neodpověděl/a 9] No answer 
Interviewer 
Instruction 

POKYN: PŘEDLOŽTE KARTU 24  A 
VYZNAČTE POUZE JEDNU ODPOVĚĎ. 

INSTRUCTION: SHOW CARD 24 AND 
TICK ONE ANSWER ONLY.  

Translation 
Note 

 

Note  

Construction/Recoding: 
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Country Variable Codes/Construction Rules Î Marital 
1 Married   1. Married, living with legal spouse 
2 Widowed 2. Widowed 
3 Divorced 3. Divorced 
4 Married - living separately 4. Separated (married but separated / 

not living with legal spouse) 
5 Single (never married) 5. Single, never married 
9 No answer 9. No answer, refused 

Optional: Recoding Syntax 
compute MARITAL = s10. 

 
 

COHAB – R: Steady life-partner 
 National Language English Translation 
Question no. 
and text 

S11. Žijete se stálým partnerem (stálou 
partnerkou)? 

S11. Do you live together with a steady 
partner? 

Codes/ 
Categories 

1) Ne Æ POKRAČUJTE OTÁZKOU S18 
2) Ano  
9)   Neodpověděl/aÆ POKRAČUJTE 
OTÁZKOU S18 

1) NoÆ GO TO QUESTION S18 
2) Yes 
9) No answerÆ GO TO QUESTION S18 

Interviewer 
Instruction 

see above  

Translation 
Note 

 

Note  

Filter Variable(s) and Conditions:  
MARITAL (S10) 
filtered if MARITAL=1 "married". 
 

Construction/Recoding:  
Country Variable Codes/Construction Rules  ÎCOHAB 

2) Yes 1. Yes 
1) No 2. No 
9) No answer 9. No answer, refused 
Code 1 in MARITAL 0. NAP (living together with spouse - Code 1 in 

MARITAL, no partner) 

Optional: Recoding Syntax 
compute COHAB = S11. 
if (MARITAL=1)COHAB=0. 

 
 

EDUCYRS - R: Education I: years in school 
 National Language English Translation 
Question no. 
and text 

S3. Spočítejte prosím, kolik let jste 
celkem navštěvoval/a školu. Počítejte i 
roky na základní škole. Nepočítejte 
dálkové, večerní či externí studium. 

S3. Can you please count how many 
years in total you attended school? 
Include also years of your primary 
school. Do not include evening schools 
or extramural study. 

95 dosud se učí/studuje na střední škole 95 still at secondary school 
96 dosud studuje na vysoké škole 96 still at college/university 
98 neví 98 don’t know 

Codes/ 
Categories 

99 neodpověděl/a 99 no answer 
Interviewer POKYN: ZAOKROUHLETE NA CELÉ 

ROKY A VYPIŠTE VE SPRÁVNÉM TVARU 
INSTRUCTION: ROUND THE ENTIRE 
YEARS AND WRITE BELLOW IN THE 
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Instruction NA ŘÁDEK I DO RÁMEČKU. DOSUD SE 
UČÍ/STUDUJE NA STŘEDNÍ ŠKOLE=95, 
DOSUD STUDUJE NA VYSOKÉ 
ŠKOLE=96, NEVÍ=98, 
NEODPOVĚDĚL/A=99. 

CORRECT FIGURE TO THE LINE AND 
THE BOX. STILL AT SECONDARY 
SCHOOL=95, STILL AT 
COLLEGE/UNIVERSITY =96, 
DON’T KNOW=98, NO ANSWER=99. 

Note  

Filter Variable(s) and Conditions:  
 

Construction/Recoding: 
Country Variable Codes/Construction Rules Î EDUCYRS 

7 [lowest] 
26 [highest] 
95 still at secondary school 95. Still at school 
96 still at college/university 96. Still at College/University 
 97. No formal schooling 
98 don’t know 98. Don’t know 
99 no answer 99. No answer, refused 
 00. NAV 

Optional: Recoding Syntax 
compute EDUCYRS = S3. 

 
 

DEGREE – R: Education II: categories 
 National Language English Translation 
Question no. 
and text 

S2. Jaké je Vaše nejvyšší ukončené 
školní vzdělání? 

S2. What is your highest achieved level 
of education? 

1) Neúplné základní 1] Incomplete primary 

2) Základní 2] Primary 

3) Vyučení bez maturity 
3] Vocational without diploma*) (Lower 
vocational training - apprenticeship 
certificate) 

4) Střední bez maturity 4] Secondary without diploma*) 

5) Vyučení s maturitou 5] Vocational with diploma*) 

6) Střední odborné s maturitou 
6] Secondardy professional (Technical 
secondary) 

7) Střední všeobecné s maturitou 7] Secondary general (Academic secondary) 

8) Vyšší odborné (pomaturitní, vyšší škola, 
5. a 6. roč. konzervatoře) 

8] Higher professional (follow up diploma 
courses, higher school, 5th and 6th year of 
conservatoire) (Post-sec.) 

9)    Vysokoškolské – bakalářské 9] University – bachelor's degree 
10)   Vysokoškolské – magisterské 10] University – master's degree 
11)   Vědecká výchova, postgraduální 11] Scientific study, post-gradual 

Codes/ 
Categories 

99)  Neodpověděl/a No answer 
Interviewer 
Instruction 

POKYN: PŘEDLOŽTE KARTU 28 A 
VYZNAČTE JEDNU ODPOVĚĎ. 

INSTRUCTION: SHOW CARD 28 AND 
MARK ONE ANSWER. 

Translation 
Note 

 

Note *) diploma after school-leaving exam, required for university  
Education system in the Czech Republic http://www.uiv.cz/clanek/29/148 (link 
valid on April 17, 2008, source: www.uiv.cz) 

Filter Variable(s) and Conditions: 
 

Construction/Recoding: 



ISSP 20
06

 Czec
h R

ep
ub

lic

Country Variable Codes/Construction Rules ÎDEGREE 
01 Incomplete primary 24. No formal qualification 
02 Primary 25. Lowest formal qualification attainable 
03 Lower vocational  
04 Secondary without diploma 

26. Qualifications which are above the 
lowest qualification, but below the usual 
entry   requirement for universities 
(intermediary secondary completed) 

05  Vocational, upper diploma 
06  Technical secondary 
07  Academic secondary 

27. (Usual) Entry requirement for 
universities (higher secondary 
completed: the German Abitur, the 
French Bac, English A-level, etc.) 

08  Post-secondary 28. Qualifications which are above the 
higher secondary level, but below a full 
university degree  

09  University, bachelor degr. 
10  University, master degr. 
11  Post-gradual 

29. University degree completed  

99 No answer 13. No answer 

Optional: Recoding Syntax 
compute DEGREE = S2. 
recode DEGREE (1=0)(2=1)(3 4=2)(5 6 7=3)(8=4)(9 10 11=5)(99=9). 

 
 

CZ_DEGR - Country-specific degrees of education 
 National Language English Translation 
Question no. 
and text 

S2. Jaké je Vaše nejvyšší ukončené 
školní vzdělání? 

S2. What is your highest achieved level 
of education? 

9) Neúplné základní 1] Incomplete primary 

10) Základní 2] Primary 

11) Vyučení bez maturity 
3] Vocational without diploma*) (Lower 
vocational training - apprenticeship 
certificate) 

12) Střední bez maturity 4] Secondary without diploma*) 

13) Vyučení s maturitou 5] Vocational with diploma*) 

14) Střední odborné s maturitou 
6] Secondardy professional (Technical 
secondary) 

15) Střední všeobecné s maturitou 7] Secondary general (Academic secondary) 

16) Vyšší odborné (pomaturitní, vyšší škola, 
5. a 6. roč. konzervatoře) 

8] Higher professional (follow up diploma 
courses, higher school, 5th and 6th year of 
conservatoire) (Post-sec.) 

9)    Vysokoškolské – bakalářské 9] University – bachelor's degree 
10)   Vysokoškolské – magisterské 10] University – master's degree 
11)   Vědecká výchova, postgraduální 11] Scientific study, post-gradual 

Codes/ 
Categories 

99)  Neodpověděl/a No answer 
Interviewer 
Instruction 

POKYN: PŘEDLOŽTE KARTU 28 A 
VYZNAČTE JEDNU ODPOVĚĎ. 

INSTRUCTION: SHOW CARD 28 AND 
TICK ONE ANSWER. 

Note *) diploma after school-leaving exam, required for university  
Education system in the Czech Republic http://www.uiv.cz/clanek/29/148 (link 
valid on April 17, 2008, source: www.uiv.cz) 

Filter Variable(s) and Conditions: 
 

Construction/Recoding:  
Country Variable Codes/Construction Rules Î nat_DEGR 

1] Incomplete primary 01  'Incomplete primary' 
2] Primary 02  'Primary' 
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3] Vocational without diploma (Lower vocational training) 03  'Lower vocational' 
4] Secondary without diploma 04  'General seondary,no dipl.' 
5] Vocational with diploma 05  'Vocational, upper diploma' 
6] Secondardy professional (Technical secondary) 06  'Technical secondary' 
7] Secondary general (Academic secondary) 07  'Academic secondary' 
8] Higher professional (follow up diploma courses, 
higher school, 5th and 6th year of conservatoire) (Post-
sec.) 08  'Post-secondary' 
9] University – bachelor's degree 09  'Tertiary, bachelor degr.' 
10] University – master's degree 10  'Tertiary, master degree' 
11] Scientific study, post-gradual 11  'Post-gradual' 
99) No answer 99  'NA' 

Optional: Recoding Syntax 
compute CZ_DEGR = S2. 

 
 

WRKST - Current employment status, main source of living 
 National Language English Translation 

Note Constructed from two questions. 
Question no. 
and text 

S4. Jaké je Vaše současné ekonomické 
postavení, hlavní zdroj obživy? 

S4. What is your current economic 
status, your main source of living?  

1)  Zaměstnanec na plný úvazek 1) Full-time employed 
2)  Zaměstnanec na částečný úvazek (1/2 a 
vyšší) 

2) Part-time employed (1/2 and more) 

3)  Zaměstnanec na částečný úvazek (méně 
než 1/2) 

3) Part-time employed (less than 1/2) 

4)  Soukromník, podnikatel 4) Self-employed 
5)  Svobodné povolání 5) Freelance 
6)  Pomáhající člen rodiny 6) Helping family member 
7)  Nezaměstnaný Æ 
POKRAČUJTE OTÁZKOU S6 

7) Unemployed  
Î GO TO QUESTION S6 

8)  Student, učeň Æ 
POKRAČUJTE OTÁZKOU S6 

8) Student, apprentice 
Î GO TO QUESTION S6 

9)  Pracující důchodce 9) Working pensioner  
Î GO TO QUESTION S6 

10) Důchodce invalidní Æ 
POKRAČUJTE OTÁZKOU S6 

10) Permanently disabled 
Î GO TO QUESTION S6 

11) Důchodce starobní Æ 
POKRAČUJTE OTÁZKOU S6 

11) Retired (old-age)  
Î GO TO QUESTION S6 

12) Trvale v domácnosti Æ 
POKRAČUJTE OTÁZKOU S6 

12) Housewife/man 
Î GO TO QUESTION S6 

13) Na mateřské dovolené Æ 
POKRAČUJTE OTÁZKOU S6 

13) On maternity leave  
Î GO TO QUESTION S6 

14) Ostatní Æ 
POKRAČUJTE OTÁZKOU S6 

14) Other  
Î GO TO QUESTION S6 

Codes/ 
Categories 

99) Neodpověděl/a  Æ 
POKRAČUJTE OTÁZKOU S6 99)  No answerÎ GO TO QUESTION S6

Interviewer 
Instruction 

POKYN: PŘEDLOŽTE KARTU 29. 
VYZNAČTE POUZE JEDINOU ODPOVĚĎ. 

INSTRUCTION: SHOW CARD 29. TICK 
ONE ANSWER ONLY. 

Question no. 
and text 

S5. Kolik hodin v průměru týdně 
pracujete ve Vašem zaměstnání a při 
Vašich případných dalších výdělečných 
činnostech včetně přesčasů? 

Počet hodin: ........... 

S5. How many hours a week including over 
time do you work in average in your job 
and in your other additional money 
providing activities?  

Number of hours: ....... 
Interviewer 
Instruction 

POKYN: ZAOKROUHLETE NA CELÉ 
HODINY! NEVÍ=998, 
NEODPOVĚDĚL/A=999. 

INSTRUCTION: ROUND UP TO ENTIRE 
HOURS. DON’T KNOW=998, NO 
ANSWER=999. 
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Construction/Recoding: 
Country Variable Codes/Construction Rules ÎWRKST 

01 Full-time employed 
and if (question S5 >= 35 or question S5 = NA) also: 
  04 Self-employed 
  05 Freelance   

1. Empl. full time 

02 Part-time empl., main job  
and if (question S5 < 35) also: 
  04 Self-employed 
  05 Freelance   

2. Empl. part time 

03 Less part-time empl.  
and if (question S5 < 15) also: 
  04 self-employed 
  05 freelance   

3. Empl. < part time / temp. out of work 

06 Helping family member 4. Helping family member 
07 Unemployed 5. Unemployed 
08 Student, apprentice 6. Student / in school / in vocat. 

Training 
9 Working pensioner 
11 Retired 

7. Retired 

12 Housewife/man 
13 On maternity leave 

8. Housewife / home duties 

10 Permanently disabled 9. Permanently disabled 
14 Other 10. Others not in labour force 
 98. Don’t know 
99 NA 99. No answer 
 0. NAV 

Optional: Recoding Syntax 
compute WRKST=S4. 
recode WRKST (1 4 5=1)(2=2)(3=3)(6=4)(7=5)(8=6)(9 11=7)(12 13=8)(10=9)(14=10). 
if ((s4=4 or s4=5) and s5<35)WRKST=2. 
if ((s4=4 or s4=5) and s5<15)WRKST=3. 

 
 

WRKHRS - Weekly working hours 
 National Language English Translation 
Question no. 
and text 

S5. Kolik hodin v průměru týdně 
pracujete ve Vašem zaměstnání a při 
Vašich případných dalších výdělečných 
činnostech včetně přesčasů? 

Počet hodin: ........... 

S5. How many hours a week including over 
time do you work in average in your job 
and in your other money providing 
activities?  

Number of hours: ....... 
Codes/ 
Categories   

Interviewer 
Instruction 
 

POKYN: ZAOKROUHLETE NA CELÉ 
HODINY! NEVÍ=998, 
NEODPOVĚDĚL/A=999. 

INSTRUCTION: ROUND UP TO ENTIRE 
HOURS. DON’T KNOW=998, NO 
ANSWER=999. 

Filter Variable(s) and Conditions: 
S4 (WRKST): out of labour force, i.e. codes 7 to 14, and no answers 

Construction/Recoding:  
Country Variable Codes/Construction Rules ÎWRKHRS 

7 [lowest] 
96 and more [highest] 
96 and more 96. 96 hrs and more 
 97. Refused 
998 Do not know 98. Don’t know, cant say, varies too 

much 
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999 No answer 99. No answer 
if WRKST>4, i.e. not in labour force 00. NAV, NAP (currently not in labour 

force – Code 5-10 in WRKST) 

Optional: Recoding Syntax 
compute WRKHRS = S5. 
recode WRKHRS (96 thru 168=96)(998=98) (999=99). 
if (WRKST>4)WRKHRS=0. 

 
 

INTERVIEWER INSTRUCTION FOR QUESTIONS S6 TO  S9  
(i.e. for variables ISCO88, WRKSUP, WRKTYPE, NEMPLOY). 

Interviewer 
Instruction 

POZOR! 
V OTÁZKÁCH S6 AŽ S9:  
• EKONOMICKY AKTIVNÍ HOVOŘÍ O 

SVÉM SOUČASNÉM ZAMĚSTNÁNÍ,  
• EKONOMICKY NEAKTIVNÍ, KTEŘÍ 

NĚKDY MĚLI NĚJAKÉ ZAMĚSTNÁNÍ, 
HOVOŘÍ O SVÉM POSLEDNÍM 
ZAMĚSTNÁNÍ, 

• PRACUJÍCÍ DŮCHODCI HOVOŘÍ O 
SVÉM ZAMĚSTNÁNÍ PŘED 
ODCHODEM DO DŮCHODU! 

ATTENTION!  
AT QUESTIONS S6 TO S9: 
• THOSE WHO ARE ECONOMICALLY 

ACTIVE SPEAK ABOUT THEIR 
CURRENT OCCUPATION, 

• THOSE WHO ARE NOT 
ECONOMICALLY ACTIVE AND 
EVER HAD ANY JOB SPEAK ABOUT 
THEIR LAST OCCUPATION, 

WORKING PENSIONERS SPEAK ABOUT 
THE LAST OCCUPATION BEFORE THE 
RETIREMENT!  

 
 

ISCO88 - R: Occupation ISCO 1988 
 National Language English Translation 
Question no. 
and text 

S6. Jaká je (byla) Vaše profese, případně 
pracovní zařazení ve Vašem hlavním 
zaměstnání? Jakou práci vykonáváte 
(jste vykonávala)?  

Podrobně zapište: ........... 

S6. What is/was your occupation or 
working status in your main job? What 
work do (did) you do?  

Detailed answer: ......... 

POKYN: ODPOVĚĎ ZAZNAMENEJTE CO 
NEJPODROBNĚJI. NESTAČÍ ÚDAJ 
“DĚLNÍK”, ALE JE POTŘEBA DALŠÍ 
URČENÍ NAPŘ. “DĚLNÍK U BĚŽÍCÍHO 
PÁSU VE VÝROBNĚ MOTORŮ”; U 
SOUKROMÝCH PODNIKATELŮ 
SPECIFIKUJTE OBOR / ČINNOST 
PODNIKÁNÍ.POKUD DOTAZOVANÝ/Á 
SDĚLÍ, ŽE MÁ (MĚL/A) VÍCE 
ZAMĚSTNÁNÍ, PTEJTE SE NA HLAVNÍ 
ZAMĚSTNÁNÍ. HLAVNÍ ZAMĚSTNÁNÍ JE 
TO, VE KTERÉM DOTAZOVANÝ TRÁVÍ 
NEJVÍCE ČASU. 
NEVÍ=9998, NEODPOVĚDĚL/A=9999. 
NIKDY NEPRACOVAL/A=0000 
ÆPŘEJDĚTE NA OTÁZKU S10 

INSTRUCTION: WRITE DOWN DETAILED 
ANSWER. THE SPECIFICATION "WORKER" 
IS NOT SUFFICIENT, DETAILED 
SPECIFICATION IS NECESSARY, E.G. 
"WORKER AT CONVEYOR-BELT IN FLOW 
PRODUCTION OF MOTORS". AT 
ENTERPRENEURS SPECIFY THE BRANCH 
/SUBJECT OF ENTERPRENEURSHIP. IF 
RESPONDENT REPORTS MORE 
OCCUPATIONS, ASK THE MAIN 
OCCUPATION. THE MAIN OCCUPATION IS 
THAT ONE, WHERE RESPONDENT SPEND 
TME MOST OF HIS/HER TIME. 
DONT KNOW =9998, NO ANSWER=9999; 
NEVER WORKED=0000  Æ GO TO 
QUESTION S10  

Interviewer 
Instruction 

see also above: Instructions for questions S6 to S9. 
ISCO88 (ILO) 

 

� 

ISCO88-COM (EU variant) 
 

� 

Use of ISCO 

Other ISCO88 variant X→please specify 
 
Czech national ISCO-88 recoded into ISCO-
88 (ILO) 
 

Filter Variable(s) and Conditions: 
never had a job =0 
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WRKSUP - Supervises others at work 
 National Language English Translation 

Question no. 
and text 

S8. Máte (měl/a) jste ve svém hlavním 
zaměstnání nějaké podřízené? 
Pokud ano, kolik? 
 

S8. Do (did) you have any subordinates 
in your main job? If yes, how many? 

1) Žádné podřízené 1) No subordinates 
2) 1 – 10 2) 1 – 10 
3) Více než 10 3) More than 10 
4) Neví 4) Don’t know 

Codes/ 
Categories 

5) Neodpověděl/a 5) No answer 
POKYN: VYZNAČTE POUZE JEDNU 
ODPOVĚĎ! 
POKUD SE DOTAZOVANÝ ZEPTÁ, ZDA 
MÁ ZAPOČÍTAT 
POUZE PRACOVNÍKY, KTERÉ ŘÍDÍ 
PŘÍMO, NEBO I TY, KTEŘÍ 
JSOU ŘÍZENI JEHO PODŘÍZENÝMI, 
POŽÁDEJTE 
DOTAZOVANÉHO, ABY ZAPOČÍTAL 
VŠECHNY PRACOVNÍKY, 
KTERÉ ŘÍDÍ PŘÍMO I NEPŘÍMO. POZOR: 
UČITELÉ NEUVÁDĚJÍ 
ŽÁKY, SOCIÁLNÍ PRACOVNÍCI 
NEUVÁDĚJÍ SVÉ KLIENTY, 
ATD. POKUD DOTAZOVANÝ ŘÍKÁ, ŽE SE 
POČET JEHO 
PODŘÍZENÝCH V TOMTO ZAMĚSTNÁNÍ 
MĚNIL, POŽÁDEJTE 
HO, AŤ UVEDE NEJVYŠŠÍ POČET. 

INSTRUCTION: TICK ONE ANSWER 
ONLY! IF RESPONDENT ASKS, IF HE/SHE 
SHOULD COUNT ONLY EMPLYEES, 
WHICH HE/SHE SUPERVISES DIRECTLY 
OR ALSO THOSE, WHICH ARE 
SUPERVISED BY HIS/HER 
SUBORDINATES, REQUIRE COUNTING 
OF ALL EMPLYEES SUPERVISED 
DIRECTLY AND INDIRECTLY. 
ATTENTION: TEACHERS DO NOT 
INCLUDE THEIR STUDENTS, SOCIAL 
WORKERS DO NOT INCLUDE THEIR 
CLIENTS, ETC. IF RESPONDENT SAYS 
THAT IN MENTIONED EMPLOYMENT THE 
NUMBER HAS CHANGED, ASK FOR THE 
HIGHEST NUMBER. 

Interviewer 
Instruction 

see also above: Instructions for questions S6 to S9. 

Filter Variable(s) and Conditions: 
if question s6 = never had a job 

Construction/Recoding: 
Country Variable Codes/Construction Rules ÎWRKSUP 

2) 1 – 10 
3) More than 10 

1. Yes, supervises 

1) No subordinates 2. No, don’t supervise 
 7. Refused 
4) Don’t know 8. Don’t know 
5) No answer 9. No answer 
6) filter S6 0. NAP (Never had a job) 

Optional: Recoding Syntax 
compute  WRKSUP = s8. 
recode WRKSUP (2 3=1)(1=2)(4=8)(5 6=9). 
if (ISCO88=0) WRKSUP=0. 

 
 

WRKTYPE - R: Working for private sector, public sector or self-employed 
 National Language English Translation 

Note Information on self-employed respondents derived from question S4  
- see WRKST. 

Question no. 
and text 

S7. Pracujete (naposledy jste pracoval/a): S7. Do you work (in your last job did you 
work) in: 

1) V soukromém podniku (v akciové spol., 
ve spol. s ruč. omez., veř. obch. spol. nebo 
družstvu, i se státní účastí, …) 

1) an private firm (a joint-stock company, a 
limited company, a co-partnership, a co-
operative, even with state participation, ...) 

Codes/ 
Categories 

2) Ve státním podniku 2) a state company 
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3) Ve státní správě (ministerstvo, katastrální 
úřad, Česká policie, armáda, …) 

3) civile service (ministry, real estate 
register, Czech police, army,...) 

4) V samosprávě (obecní úřad, profesní 
komora) 

4) self-government (local council, 
proffesional chamber) 

5) Ve veřejné instituci (škola, veřejné zdrav. 
zařízení, Český rozhlas, …)  

5) public institution (school, public hospital, 
Czech Radio,...) 

6) V nadaci nebo v obecně prospěšné 
společnosti 6) foundation or non-profit organization 

7) Jinde 7) other 
98) Neví 98) Don’t know 
99) Neodpověděl/a 99) No answer. 
POKYN: PŘEDLOŽTE KARTU 30 
VYZNAČTE POUZE JEDNU ODPOVĚĎ. 

INSTRUCTION: SHOW CARD 30. TICK 
ONE ANSWER ONLY. 

Interviewer 
Instruction 

see also above: Instructions for questions S6 to S9. 

Filter Variable(s) and Conditions: 
if question s6 = never had a job 

Construction/Recoding: 
Country Variable Codes/Construction Rules ÎWRKTYPE 

3 civil service (ministry, police, army etc.) 
4 self-government (local council) 

1. Works for government 

2 a state company 
5 public institution (school, hospital) 

2. Works for publicly owned firm 

1 a private firm 
6 foundation or non-profit organisation 
7 other 

3. Private firm, others (does not work 
for government or publicly owned firm, 
and not self employed) 

QUESTION S4: If current economic status at question S4 = 4 
Self employed or 5 Freelance 

4. Self employed 

98 Don’t know, 99 No answer 9. NA, DK 
Never had a job, filter S6 0. NAP, NAV (Never had a job) 

Optional: Recoding Syntax 
compute WRKTYPE=s7. 
recode WRKTYPE (3 4=1)(2 5=2)(1 6 7=3)(else=9). 
if (s4=4 or s4=5)WRKTYPE=4. 
if (ISCO88=0)WRKTYPE=0. 

 
 

NEMPLOY - (If self employed) Number of employees 
 National Language English Translation 
Question no. 
and text 

S9. Pokud jste (jste byl/a) soukromý/á 
podnikatel/ka, kolik máte (jste měl/a) 
zaměstnanců? 

Počet zaměstnanců: ......... 

S9. If you are/were self-employed, how 
many employees do/did you have? 

No. of employees: ............... 

 
995  995 A VÍCE ZAMĚSTNANCŮ 995 995 and more employees 
998   Neví 998 Don’t know 

Codes/ 
Categories 

999  Neodpověděl/a 999 No answer 
OTÁZKA S9 JE POUZE PRO TY, KTEŘÍ 
JSOU NEBO BYLI SOUKROMÝMI 
PODNIKATELI. 
 
POKYN: VYPIŠTE NA ŘÁDEK A VE 
SPRÁVNÉM TVARU DO RÁMEČKU, ČÍSLA 
MENŠÍ NEŽ 100 DOPLŇTE NULOU! 995 A 
VÍCE ZAMĚSTNANCŮ=995, =998, 
NEODPOVĚDĚL/A=999.  
 

QUESTION S9 IS ONLY FOR THOSE, 
WHO ARE OR WERE SELF-EMPLOYED. 
 
INSTRUCTION: WRIGH DOWN TO THE 
LINE AND TO THE FRAMES BELOW, FOR 
NUMBERS LESS THEN 100 TICK 0 IN THE 
HUNDREDS ROW! DON’T KNOW=998, NO 
ANSWER=999. 
 

Interviewer 
Instruction 

see also above: Instructions for questions S6 to S9. 
Translation 
Note 
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Note  

Filter Variable(s) and Conditions: 
if respondent is not self-employed, i.e. other code than 4 or 5 in question S4. 

Construction/Recoding: 
Country Variable Codes/Construction Rules ÎNEMPLOY 

1 [lowest] 
78 [highest] 
0 9995. No employee 
 9997. Refused 
998 Don’t know 9998. Don’t know 
999 No answer 9999. No answer 
Code 0, 1-3 in WRKTYPE 0. NAV, NAP (Code 0, 1-3 in 

WRKTYPE) 

Optional: Recoding Syntax 
compute NEMPLOY = S9. 
recode NEMPLOY (0=9995)(998=9998)(999=9999). 
if (WRKTYPE <> 4) NEMPLOY=0. 

 
 

UNION - Is/was respondent member of a (trade) union? 
 National Language English Translation 

Question no. 
and text 

C5. Jste nebo byl(a) jste v minulosti 
členem některé z těchto organizací? 

a) odbory 

C5. Are you or were you in the past a 
memberany of these organisations? 

a) trade unions 

1) Ano, v současnosti jsem členem 1) Yes, currently I am a member 
2) Ano, v minulosti jsem byl členem, nyní 

nejsem 
2) Yes, I was a member in the past 

3) Ne, nejsem a nikdy jsem nebyl členem 3) No, I have never been a member 

Codes/ 
Categories 

9) Neodpověděl(a) 9) No answer 
Interviewer 
Instruction 

  

Translation 
Note 

 

Note  

Construction/Recoding: 
Country Variable Codes/Construction Rules ÎUNION 

1) Yes, currently I am a member 1. Currently member 
2) Yes, I was a member in the past 2. Once member, not now 
3) No, I have never been a member 3. Never member 
 8. Don’t know 
9) No answer 9. No answer 
 0. NAP, NAV 

Optional: Recoding Syntax 
compute UNION=c51. 

 
SPWRKST – Spouse/partner: current employment status, main source of living 

 National Language English Translation 
Question no. 
and text 

S13. Jaké je ekonomické postavení, 
hlavní zdroj obživy Vašeho partnera (Vaší 
partnerky)? 

S13. What is current economic status, 
main source of living of your 
spouse/partner? 

Codes/ 1)  Zaměstnanec na plný úvazek 1) Full-time employed 
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2)  Zaměstnanec na částečný úvazek (1/2 a 
vyšší) 

2) Part-time employed (1/2 and more) 

3)  Zaměstnanec na částečný úvazek (méně 
než 1/2) 

3) Part-time employed (less than 1/2) 

4)  Soukromník, podnikatel 4) Self-employed 
5)  Svobodné povolání 5) Freelance 
6)  Pomáhající člen rodiny 6) Helping family member 
7)  Nezaměstnaný  7) Unemployed
8)  Student, učeň  8) Student, apprentice 
9)  Pracující důchodce 9) Working pensioner  
10) Důchodce invalidní  10) Permanently disabled 
11) Důchodce starobní  11) Retired (old-age)
12) Trvale v domácnosti  12) Housewife/man
13) Na mateřské dovolené 13) On maternity leave 
14) Ostatní  14) Other

Categories 

99) Neodpověděl/a   99)  No answer
Interviewer 
Instruction 

POKYN: PŘEDLOŽTE KARTU 29. 
VYZNAČTE POUZE JEDINOU ODPOVĚĎ. 

INSTRUCTION: SHOW CARD 29. TICK 
ONE ANSWER ONLY. 

Translation 
Note 

 

Note  

Filter Variable(s) and Conditions: 
if not married at question S10 and no partner at S11 

Construction/Recoding: 
Country Variable Codes/Construction Rules ÎSPWRKST 

if not married at question S10 and no partner at S11, i.e. Code 
2-5 in MARITAL or 2 in COHAB 

00. NAP (no spouse, no partner – Code 
2-5 in MARITAL or 2 in COHAB) 

01 Full-time employed 
04 Self-employed 
05 Freelance   

1. Empl. full time 

02 Part-time empl., main job   2. Empl. part time 
03 Less part-time empl.   3. Empl. < part time / temp. out of work 
06 Helping family member 4. Helping family member 
07 Unemployed 5. Unemployed 
08 Student, apprentice 6. Student / in school / in vocat. training 
9 Working pensioner 
11 Retired 

7. Retired 

12 Housewife/man 
13 On maternity leave 

8. Housewife / home duties 

10 Permanently disabled 9. Permanently disabled 
14 Other 10. Others not in labour force 
 97. Refused 
99 NA 98. Don’t know 
 99. No answer 

Optional: Recoding Syntax 
compute SPWRKST=S13. 
recode SPWRKST 
  (1 4 5=1)(2=2)(3=3)(6=4)(7=5)(8=6)(9 11=7)(12 13=8)(10=9)(14=10). 
if (MARITAL ne 1 and COHAB ne 1)SPWRKST=0. 

 
 

INTERVIEWER INSTRUCTION FOR QUESTIONS S14 TO  S17  
(i.e. also for variables SPISCO88 and SPWRKTYPE). 

Interviewer 
Instruction 

POZOR! 
V OTÁZKÁCH S14 AŽ S17:  
• JESTLIŽE PARTNER 

RESPONDENTA V SOUČASNÉ 

ATTENTION! 
AT QUESTIONS S14 TO S17: 
• IF PARTNER IS NOT CURRENTLY 

ECONOMICALLY ACTIVE ASK 
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DOBĚ NEPRACUJE, PTÁTE SE NA 
POSLEDNÍ PROFESI. 

• JE-LI PRACUJÍCÍM DŮCHODCEM, 
TAK NA PROFESI PŘED 
ODCHODEM DO DŮCHODU! 

ABOUT HIS/HER LAST 
OCCUPATION, 

• IF PARTNER IS A WORKING 
PENSIONER ABOUT HIS/HER LAST 
OCCUPATION BEFORE THE 
RETIREMENT!  

 
 

SPISCO88 - S-P: Occupation ISCO  
 National Language English Translation 
Question no. 
and text 

S14. A jaká je (byla) profese, případně 
pracovní zařazení Vašeho partnera? 
Jakou práci dělá (dělala)? 

S14. What is (was) the occupation of your 
spouse/partner in his/her main job? What 
job does (did) he/she do? 

POKYN: ODPOVĚĎ ZAZNAMENEJTE CO 
NEJPODROBNĚJI. NESTAČÍ ÚDAJ 
“DĚLNÍK”, ALE JE POTŘEBA DALŠÍ 
URČENÍ NAPŘ. “DĚLNÍK U BĚŽÍCÍHO 
PÁSU VE VÝROBNĚ MOTORŮ”; U 
SOUKROMÝCH PODNIKATELŮ 
SPECIFIKUJTE OBOR / ČINNOST 
PODNIKÁNÍ.POKUD DOTAZOVANÝ/Á 
SDĚLÍ, ŽE MÁ (MĚL/A) VÍCE 
ZAMĚSTNÁNÍ, PTEJTE SE NA HLAVNÍ 
ZAMĚSTNÁNÍ. HLAVNÍ ZAMĚSTNÁNÍ JE 
TO, VE KTERÉM DOTAZOVANÝ TRÁVÍ 
NEJVÍCE ČASU. 
NEVÍ=9998, NEODPOVĚDĚL/A=9999. 
→ FILTR NIKDY NEPRACOVAL/A=0000 
ÆPŘEJDĚTE NA OTÁZKU S18 

INSTRUCTION: WRITE DOWN DETAILED 
ANSWER. THE SPECIFICATION "WORKER" 
IS NOT SUFFICIENT, DETAILED 
SPECIFICATION IS NECESSARY, E.G. 
"WORKER AT CONVEYOR-BELT IN FLOW 
PRODUCTION OF MOTORS". AT 
ENTERPRENEURS SPECIFY THE BRANCH 
/SUBJECT OF ENTERPRENEURSHIP. IF 
RESPONDENT REPORTS MORE 
OCCUPATIONS, ASK THE MAIN 
OCCUPATION. THE MAIN OCCUPATION IS 
THAT ONE, WHERE RESPONDENT SPEND 
TME MOST OF HIS/HER TIME. 
DONT KNOW =9998, NO ANSWER=9999; 
→ FILTR NEVER WORKED=0000  Æ GO 
TO QUESTION S18  

Interviewer 
Instruction 

see also above: Instructions for questions S6 to S9. 
 

ISCO88 (ILO) � 
ISCO88-COM (EU variant) � 

Use of ISCO 

Other ISCO88 variant X→please specify 
Czech national ISCO-88 recoded into 
ISCO-88 (ILO) 

Filter Variable(s) and Conditions: 
• if not married at question S10 and no partner at S11 
• never worked 

 
 

SPWRKTYP - S-P: Working for private sector, public sector or self-employed 
 National Language English Translation 

Note Information on self-employed respondents derived from question S13  
- see SPWRKST. 

Question no. 
and text 

S15. Pracuje (pracoval/a) Váš partner 
(Vaše partnerka) ve svém hlavním 
zaměstnání: 

S15. Does/did your spouse/partner has 
subordinates in his/her main job? If yes, 
how many? 

1) V soukromém podniku (v akciové spol., 
ve spol. s ruč. omez., veř. obch. spol. nebo 
družstvu, i se státní účastí, …) 

1) an private firm (a joint-stock company, a 
limited company, a co-partnership, a co-
operative, even with state participation, ...) 

2) Ve státním podniku 2) a state company 
3) Ve státní správě (ministerstvo, katastrální 
úřad, Česká policie, armáda, …) 

3) civile service (ministry, real estate 
register, Czech police, army,...) 

4) V samosprávě (obecní úřad, profesní 
komora) 

4) self-government (local council, 
proffesional chamber) 

Codes/ 
Categories 

5) Ve veřejné instituci (škola, veřejné zdrav. 
zařízení, Český rozhlas, …)  

5) public institution (school, public hospital, 
Czech Radio,...) 
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6) V nadaci nebo v obecně prospěšné 
společnosti 6) foundation or non-profit organization 

7) Jinde 7) other 
98) Neví 98) Don’t know 
99) Neodpověděl/a 99) No answer. 
POKYN: PŘEDLOŽTE KARTU 30 
VYZNAČTE POUZE JEDNU ODPOVĚĎ. 

INSTRUCTION: SHOW CARD 30. TICK 
ONE ANSWER ONLY. 

Interviewer 
Instruction 

see also above: Instructions for questions S6 to S9. 

Filter Variable(s) and Conditions: 
• if not married at question S10 and no partner at S11 

Construction/Recoding: 
Country Variable Codes/Construction Rules ÎSPWRKTYP 

3 civil service (ministry, police, army etc.) 
4 self-government (local council) 

1. Works for government 

2 a state company 
5 public institution (school, hospital) 

2. Works for publicly owned firm 

1 a private firm 
6 foundation or non-profit organisation 
7 other 

3. Private firm, others (does not work 
for government or publicly owned firm, 
and not self employed) 

QUESTION S13: If current economic status at question S13 = 
4 Self employed or 5 Freelance 

4. Self employed 

98 Don’t know, 99 No answer 9. NA, DK 
Never had a job, filter at S6 
No partner, filters at S10 and S11 

0. NAP, NAV (Never had a job) 

Optional: Recoding Syntax 
compute SPWRKTYP=s15. 
recode SPWRKTYP (3 4=1)(2 5=2)(1 6 7=3)(else=9). 
if (s13=4 or s13=5) SPWRKTYP=4. 
if (SPISCO88=0)SPWRKTYP=0. 

 
 

INCOME – Family income 
 National Language English Translation 

Question no. 
and text 

S25. Jaký je průměrný celkový čistý 
měsíční příjem Vaší domácnosti? 
Myslíme tím příjmy a důchody všech 
osob ve Vaší domácnosti po odečtení 
daní a dále všechny sociální dávky, 
přídavky a doplňkové příjmy po zdanění. 
 

S25. What is an average total net income 
of your household per month? We mean 
incomes and rents of all members of 
your household after taxation and all 
social benefits, allowances and 
complementary incomes.  

1) méně než 8 000 1) less than 8 000 
2) 8 000 - 9 999 2) 8 000 - 9 999 
3) 10 000 - 11 999 3) 10 000 - 11 999 
4) 12 000 - 13 999 4) 12 000 - 13 999 
5) 14 000 - 15 999 5) 14 000 - 15 999 
6) 16 000 - 17 999 6) 16 000 - 17 999 
7) 18 000 - 19 999 7) 18 000 - 19 999 
8) 20 000 - 22 999 8) 20 000 - 22 999 
9) 23 000 - 25 999 9) 23 000 - 25 999 
10) 26 000 - 29 999 10) 26 000 - 29 999 
11) 30 000 - 34 999 11) 30 000 - 34 999 
12) 35 000 - 39 999 12) 35 000 - 39 999 
13) 40 000 - 49 999 13) 40 000 - 49 999 
14) 50 000 - 59 999 14) 50 000 - 59 999 
15) 60 000 - 74 999 15) 60 000 - 74 999 
16) 75 000 - 89 999 16) 75 000 - 89 999 
17) 90 000 a více 17) 90 000 a více 
97) Odmítl 97) Odmítl 

Codes/ 
Categories 

98) Neví 98) Neví 
Interviewer POKYN: PŘEDLOŽTE KARTU 35 A INSTRUCTION: SHOW CARD 35 AND 
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Instruction VYZNAČTE POUZE JEDINOU ODPOVĚĎ. TICK ONE ANSWER ONLY. 
Note midpoints of categories are coded 

Construction/Recoding: 
Country Variable Codes/Construction Rules ÎINCOME 

0 No income 000000. No income 
1) less than 8 000 7000  
2) 8 000 - 9 999 9000  
3) 10 000 - 11 999 11000 
4) 12 000 - 13 999 13000 
5) 14 000 - 15 999 15000 
6) 16 000 - 17 999 17000 
7) 18 000 - 19 999 19000 
8) 20 000 - 22 999 21500 
9) 23 000 - 25 999 24500 
10) 26 000 - 29 999 28000 
11) 30 000 - 34 999 32500 
12) 35 000 - 39 999 37500 
13) 40 000 - 49 999 45000 
14) 50 000 - 59 999 55000 
15) 60 000 - 74 999 67500 
16) 75 000 - 89 999 82500 
17) 90 000 a více 97500 
97 refused 999997. Refused 
98 do not know 999998. Don’t know 
99 not answered 999999. NA 

Optional: Recoding Syntax 
compute CZ_INC=s25. 
recode CZ_INC (1=7000)(2=9000)(3=11000)(4=13000)(5=15000)(6=17000)(7=19000) 
(8=21500)(9=24500)(10=28000)(11=32500)(12=37500)(13=45000)(14=55000)(15=67500)(16
=82500)(17=97500)(97=999997)(98=999998)(99=999999). 

 
 

RINCOME - R: Earnings 
 National Language English Translation 
Question no. 
and text 

S24. Jaký je Váš osobní průměrný 
celkový čistý měsíční příjem? Pokud 
máte, započtěte prosím Váš průměrný 
čistý plat, průměrný měsíční čistý příjem 
z podnikatelské činnosti, z vedlejších 
výdělečných činností nebo z majetku 
(vedlejší pracovní úvazky, vedlejší 
podnikání, příjmy z pronájmu, akcií atp.) 
a průměrné sociální příjmy (dávky v 
nezaměstnanosti, dávky v mateřství, 
důchody atd.). Nezapočítávejte přídavky 
na děti.  

S24. What is your personal average net 
income per month in total? If you have, 
please include your average net income 
in your job or business, your average net 
income from additional money providing 
activities or property (additional 
employment or business, rents from 
property, incomes from shares, etc.) and 
average social income per month 
(unemployment benefits, maternal 
benefits, allowances, rents, etc.) Do not 
count child allowances. 

0) Bez příjmu 0) No income 
1) 1 - 5 999 1) 1 - 5 999 
2) 6 000 - 7 499 2) 6 000 - 7 499 
3) 7 500 - 8 999 3) 7 500 - 8 999 
4) 9 000 - 9 999 4) 9 000 - 9 999 
5) 10 000 - 10 999 5) 10 000 - 10 999 
6) 11 000 - 11 999 6) 11 000 - 11 999 
7) 12 000 - 13 499 7) 12 000 - 13 499 
8) 13 500 - 14 999 8) 13 500 - 14 999 
9) 15 000 - 16 999 9) 15 000 - 16 999 
10) 17 000 - 19 999 10) 17 000 - 19 999 
11) 20 000 - 24 999 11) 20 000 - 24 999 
12) 25 000 - 29 999 12) 25 000 - 29 999 
13) 30 000 - 34 999 13) 30 000 - 34 999 
14) 35 000 - 39 999 14) 35 000 - 39 999 
15) 40 000 - 49 999 15) 40 000 - 49 999 

Codes/ 
Categories 

16) 50 000 - 59 999 16) 50 000 - 59 999 



ISSP 20
06

 Czec
h R

ep
ub

lic

17) 60 000 a více 17) 60 000 and more 
97) Odmítl 97) Refused 
98) Neví 98) Do not know 
99) Neodpověděl/a 99) No answer 

Interviewer 
Instruction 

POKYN: PŘEDLOŽTE KARTU 34 A 
VYZNAČTE POUZE JEDINOU ODPOVĚĎ. 

INSTRUCTION: SHOW CARD 34. TICK 
ONE ANSWER ONLY. 

Construction/Recoding:  
Country Variable Codes/Construction Rules ÎRINCOME 

0) No income 000000. No own income, not in paid work 
18) 1 - 5 999 3000 
19) 6 000 - 7 499 6750 
20) 7 500 - 8 999 8250 
21) 9 000 - 9 999 9500 
22) 10 000 - 10 999 10500 
23) 11 000 - 11 999 11500 
24) 12 000 - 13 499 12750 
25) 13 500 - 14 999 14250 
26) 15 000 - 16 999 16000 
27) 17 000 - 19 999 18500 
28) 20 000 - 24 999 22500 
29) 25 000 - 29 999 27500 
30) 30 000 - 34 999 32500 
31) 35 000 - 39 999 37500 
32) 40 000 - 49 999 45000 
33) 50 000 - 59 999 55000 
34) 60 000 and more 65000 
97) Refused 999997. Refused 
98) Do not know 999998. Don’t know 
99) No answer 999999. NA 

Optional: Recoding Syntax 
compute CZ_RINC=s24. 
recode CZ_RINC (1=3000)(2=6750)(3=8250)(4=9500)(5=10500)(6=11500)(7=12750) 
(8=14250)(9=16000)(10=18500)(11=22500)(12=27500)(13=32500)(14=37500)(15=45000)(16
=55000)(17=65000)(97=999997)(98=999998)(99=999999). 

 
 

HOMPOP - How many persons in household 
 National Language English Translation 
Question no. 
and text 

S23. Kolik členů, včetně Vás, má celkem 
Vaše domácnost? Domácností rozumíme 
jedince bydlící v jednom bytě či 
rodinném domku, kteří společně 
hospodaří. 

S23. How many members including 
yourself are there in your household? As 
household we understand individuals 
residing in one apartment or family 
house, who together financially manage 
the household. 

Codes/ 
Categories 

 

Interviewer 
Instruction 

POKYN: POUZE JEDNA ODPOVĚĎ. INSTRUCTION: ONLY ONE ANSWER. 
 

Construction/Recoding:  
Country Variable Codes/Construction Rules Î HOMPOP 

1 [lowest] 
7 [highest] 
99 No answer 99. No answer, refused 
 0. NAV 

Optional: Recoding Syntax 
compute HOMPOP=s23. 
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HHCYCLE - Household cycle 
 National Language English Translation 
Note Constructed from two questions. 
Question no. 
and text 

S22. Kolik máte závislých dětí ve věku do 
18 let, které s Vámi žijí ve společné 
domácnosti?  
  
Počet dětí: 

S22. How many dependent children up to 
18 years of age do you live with in 
common household? 
 
Number of children: 

Codes/ 
Categories 

 

Interviewer 
Instruction 

POKYN: POUZE JEDNA ODPOVĚĎ. INSTRUCTION: ONLY ONE ANSWER.  
 

Question no. 
and text 

S23. Kolik členů, včetně Vás, má celkem 
Vaše domácnost? Domácností rozumíme 
jedince bydlící v jednom bytě či 
rodinném domku, kteří společně 
hospodaří. 

S23. How many members including 
yourself are there in your household? As 
household we understand individuals 
residing in one apartment or family 
house, who together financially manage 
the household. 
 

Codes/ 
Categories 

 

Interviewer 
Instruction 

POKYN: POUZE JEDNA ODPOVĚĎ. INSTRUCTION: ONLY ONE ANSWER. 
 

Construction/Recoding:  
Country Variable Codes/Construction Rules Î HHCYCLE 

one person in household at S23, no children at S22 01. Single 
two persons in household at S23, one child at S22 02. One adult and one child 
three persons in household at S23, two children at S22 03. One adult and two children 
four persons in hh at S23, three or more children at S22 04. One adult and three or more childr. 
.... 05. Two adults 
 06. Two adults and one child 
 07. Two adults and two children 
...see the recoding syntax 08. Two adults and three or more childr. 
 09. Three adults 
 10. Three adults with children 
 11. Four adults 
 12. Four adults with children 
 13. Five adults 
 14. Five adults with children 
 15. Six adults 
 16. Six adults with children 
 17. Seven adults 
 18. Seven adults with children 
 19. Eight adults 
 20. Eight adults with children 
 21. Nine adults 
 22. Nine adults with children 
 23. Ten adults 
 24. Ten adults with children 
 25. Eleven adults 
 26. Eleven adults with children 
 27. Twelve adults 
 28. Twelve adults with children 
 95. Otherwise 
 103. No answer, refused 
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 0. NAV 

Optional: Recoding Syntax 
compute HHCYCLE = 99. 
compute childr=s22. 
compute adults=HOMPOP-childr. 
if (hompop=99 or childr=99) adults=99. 
recode adults (lo thru 0 99=sysmis). 
recode childr (lo thru 0 99=sysmis). 
if (adults = 1 and childr = 0)HHCYCLE = 1. 
if (adults = 1 and childr = 1)HHCYCLE = 2. 
if (adults = 1 and childr = 2)HHCYCLE = 3. 
if (adults = 1 and childr >= 3)HHCYCLE = 4. 
if (adults = 2 and childr = 0)HHCYCLE = 5. 
if (adults = 2 and childr = 1)HHCYCLE = 6. 
if (adults = 2 and childr = 2)HHCYCLE = 7. 
if (adults = 2 and childr >= 3)HHCYCLE = 8. 
if (adults = 3 and childr = 0)HHCYCLE = 9. 
if (adults = 3 and childr > 0)HHCYCLE = 10. 
if (adults = 4 and childr = 0)HHCYCLE = 11. 
if (adults = 4 and childr > 0)HHCYCLE = 12. 
if (adults = 5 and childr = 0)HHCYCLE = 13. 
if (adults = 5 and childr > 0)HHCYCLE = 14. 
if (adults = 6 and childr = 0)HHCYCLE = 15. 
if (adults = 6 and childr > 0)HHCYCLE = 16. 
if (adults = 7 and childr = 0)HHCYCLE = 17. 
if (adults = 7 and childr > 0)HHCYCLE = 18. 
if (adults = 8 and childr = 0)HHCYCLE = 19. 
if (adults = 8 and childr > 0)HHCYCLE = 20. 
if (adults = 9 and childr = 0)HHCYCLE = 21. 
if (adults = 9 and childr > 0)HHCYCLE = 22. 
if (adults = 10 and childr = 0)HHCYCLE = 23. 
if (adults = 10 and childr > 0)HHCYCLE = 24. 
if (adults = 11 and childr = 0)HHCYCLE = 25. 
if (adults = 11 and childr > 0)HHCYCLE = 26. 
if (adults = 12 and childr = 0)HHCYCLE = 27. 
if (adults = 12 and childr > 0)HHCYCLE = 28. 

 
 

PARTY_LR - R: party affiliation: left - right 
 National Language English Translation 

Question no. 
and text 

C3. Kterou politickou stranu byste 
volil(a), kdyby se volby do Poslanecké 
sněmovny konaly příští týden?                

C3. Which political party you would vote 
for if elections to the Chamber of 
Deputies were held next week?  

1 Strana zdraveho rozumu SZR Party of Common Sence 
2 Ceské hnuti za narodni jednotu CHNJ Czech National Social Party 
3 Balbinova poeticka strana BPS Balbin Poetical Party 
4 Liberalni reformni strana LIRA Liberal Reform Party 
5 Pravo a Spravedlnost PaS Law and Justice 
6 Nezavisli Independents 
7 Ceská pravice CP Czech Right-wing 
8 Koruna Ceska KC Czech Crown (monarchists) 
9 ODS ODS Civic Democratic Party 
10 CSSD CSSD Czech Social Democratic Party 
11 SNK Evropsti demokrate SNK European Democrats 
12 US-DEU US-DEU Freedom Union-Democratic Union 
13 Helax - Ostrava se bavi Helax - Ostrava is Having Fun 
14 Pravy Blok PB Right-wing Block 
15 4 VIZE 4VIZE 4 Visions 
16 Ceska strana narodne socialisticka CSNS Czech National Social Party 
17 Moravane Moravians 
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18 Strana zelenych SZ Green Party 
19 Humanisticka strana HS Humanism Party 
20 KSCM KSCM Communist Party of Bohemia and Moravia 
21 Koalice pro Ceskou republiku KpCR Coalition for the Czech Republic 
22 Narodni strana NS National Party 
23 Folklor i Spolecnost FiS Folklor and Society 
24 KDU-CSL KDU-CSL Christian Democratic Prty - Czech 

Peoples Party 
25 Nezavisli demokrate ND Independent Democrats 
26 Strana Rovnost Sanci SRS Equal Opportunities Party 
97(a) nevolil(a) by Would not vote 
98(a) nevi DK 
99(a) odmitl(a) NA, refused 

 
Interviewer 
Instruction 

POKYN: ZAPIŠTE ZKRATKU STRANY A 
VYZNAČTE JEJÍ ČÍSLO PODLE KARTY 26  
KARTU NEPŘEDKLÁDEJTE! 
NEVOLIL(A) BY=97, NEVÍ=98, 
NEODPOVĚDĚL(A)=99. 

INSTRUCTION: WRITE DOWN THE 
PARTY ABBREVIATION 
AND NUMBER.ACCORDING TO CARD 26. 
DO NOT BEND THE CARD! WOULD NOT 
VOTE=97, DON’T KNOW =98, NO 
ANSWER)=99. 

Construction/Recoding: 
Country Variable Codes/Construction Rules Î PARTY_LR 

KSCM Communist Party of Bohemia and Moravia 1. Far left (communist etc.) 
CSSD Czech Social Democratic Party 2. Left / centre left 
CSNS Czech National Social Party 
SZ Green Party 
KDU-CSL Christian Democratic Prty - Czech Peoples 
Party 
ND Independent Democrats 

3. Centre / liberal 

LIRA Liberal Reform Party 
CP Czech Right-wing 
KC Czech Crown (monarchists) 
ODS Civic Democratic Party 
SNK European Democrats 
US-DEU Freedom Union-Democratic Union 
PB Right-wing Block 

4. Right / conservative 

CHNJ Czech National Social Party 
PaS Law and Justice 
NS National Party 

5. Far right (fascist etc.) 

else 6. Other 
97 would not vote 7. No party, no preference 
98 do not know 8. Don’t know 
99 no answer 9. No answer, refused 
 0. NAV, NAP 

Optional: Recoding Syntax 
compute CZ_PRTY=c3. 
compute PARTY_LR=CZ_PRTY. 
recode PARTY_LR (20=1)(10=2)(16 18 24 25=3)(4 7 8 9 11 12 14=4)(2 5 22=5) 
(97=7)(98=8)(99=9)(else=6). 

 
 

CZ_PRTY - R: party affiliation – country-specific 
 National Language English Translation 

Question no. 
and text 

B3. Kterou politickou stranu byste 
volil(a), kdyby se volby do Poslanecké 
sněmovny konaly příští týden?                

B3. Which political party you would vote 
for if elections to the Chamber of 
Deputies were held next week?  
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1 Strana zdraveho rozumu SZR Party of Common Sence 
2 Ceské hnuti za narodni jednotu CHNJ Czech National Social Party 
3 Balbinova poeticka strana BPS Balbin Poetical Party 
4 Liberalni reformni strana LIRA Liberal Reform Party 
5 Pravo a Spravedlnost PaS Law and Justice 
6 Nezavisli Independents 
7 Ceská pravice CP Czech Right-wing 
8 Koruna Ceska KC Czech Crown (monarchists) 
9 ODS ODS Civic Democratic Party 
10 CSSD CSSD Czech Social Democratic Party 
11 SNK Evropsti demokrate SNK European Democrats 
12 US-DEU US-DEU Freedom Union-Democratic Union 
13 Helax - Ostrava se bavi Helax - Ostrava is Having Fun 
14 Pravy Blok PB Right-wing Block 
15 4 VIZE 4VIZE 4 Visions 
16 Ceska strana narodne socialisticka CSNS Czech National Social Party 
17 Moravane Moravians 
18 Strana zelenych SZ Green Party 
19 Humanisticka strana HS Humanism Party 
20 KSCM KSCM Communist Party of Bohemia and Moravia 
21 Koalice pro Ceskou republiku KpCR Coalition for the Czech Republic 
22 Narodni strana NS National Party 
23 Folklor i Spolecnost FiS Folklor and Society 
24 KDU-CSL KDU-CSL Christian Democratic Prty - Czech 

Peoples Party 
25 Nezavisli demokrate ND Independent Democrats 
26 Strana Rovnost Sanci SRS Equal Opportunities Party 
97(a) nevolil(a) by Would not vote 
98(a) nevi DK 
99(a) odmitl(a) NA, refused 

Interviewer 
Instruction 

POKYN: ZAPIŠTE ZKRATKU STRANY A 
VYZNAČTE JEJÍ ČÍSLO PODLE KARTY 26 
KARTU NEPŘEDKLÁDEJTE! 
NEVOLIL(A) BY=97, NEVÍ=98, 
NEODPOVĚDĚL(A)=99. 

INSTRUCTION: WRITE DOWN THE 
PARTY ABBREVIATION 
AND NUMBER.ACCORDING TO CARD 26. 
DO NOT BEND THE CARD! WOULD NOT 
VOTE=97, DON’T KNOW =98, NO 
ANSWER)=99. 

Optional: Recoding Syntax 
compute CZ_PRTY=c3. 

 
 

VOTE_LE - Did R vote in last general election? 
 National Language English Translation 
Question no. 
and text 

C1. Vraťme se k posledním volbám do 
Poslanecké sněmovny, které se konaly 2. 
a 3. června 2006. Zúčastnil(a) jste se 
těchto voleb? 

C1. Let’s go back to the last elections to 
the Chamber of Deputies that were held 
on 2 and 3 July, 2006. Did you take part 
in the elections?  

1) Ano 1] Yes 
2) Ne Æ POKRAČUJTE OTÁZKOU C3 2) No Æ GO TO QUESTION C3 

Codes/ 
Categories 

3) Ne, neměl jsem volební právo                
Æ POKRAČUJTE OTÁZKOU C3 

3) No, I had no voting right Æ GO TO 
QUESTION C3 

Interviewer 
Instruction 

POKYN: VYZNAČTE POUZE JEDNU 
ODPOVĚĎ. 

INSTRUCTION: PLEASE TICK ONE 
ANSWER ONLY. 

Construction/Recoding: 
Country Variable Codes/Construction Rules Î VOTE_LE 
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1] Yes 1.Yes 
2) No 2. No 
9) No answer 9. No answer 
3) No, I had no voting right 0. NAV 

 

Optional: Recoding Syntax 
compute VOTE_LE = c1. 
recode VOTE_LE (3=0). 
 

 

ATTEND - R: Religious services - how often 
 National Language English Translation 
Question no. 
and text 

S29. Jak často navštěvujete bohoslužby? 
 

S29. How often do you attend religious 
services? 

1) Několikrát za týden 1) Several times a week 
2) Jednou za týden 2) Once a week 
3) 2 až 3x za měsíc 3) 2 – 3 times a month 
4) Jednou za měsíc  4) Once a month 
5) Několikrát za rok 5) Several times a year 
6) Jednou za rok 6) Once a year 
7) Méně často 7) Less often 
8) Nikdy 8) Never 

Codes/ 
Categories 

98)  Neví  98) Don’t know 
Interviewer 
Instruction 

POKYN: PŘEDLOŽTE KARTU 39 A 
VYZNAČTE JEDNU ODPOVĚĎ! 

INSTRUCTION: SHOW CARD 39 AND 
TICK ONE ANSWER ONLY! 

Construction/Recoding: 
Country Variable Codes/Construction Rules Î ATTEND 

1) Several times a week 1. Several times a week 
2) Once a week 2. Once a week  
3) 2 – 3 times a month 3. 2 or 3 times a month 
4) Once a month 4. Once a month 
5) Several times a year 5. Several times a year 
6) Once a year 6. Once a year 
7) Less often 7. Less frequently 
8) Never 8. Never 
 97. Refused 
98) Don’t know 98. Don’t know, varies too much 
 99. No answer 

Optional: Recoding Syntax 
compute ATTEND=s29. 

 
 

RELIG - R: Religious denomination 
 National Language English Translation 
Question no. 
and text 

S28. K jakému náboženskému 
vyznání se hlásíte? 

S28. What is your religious 
affiliation? 

1) Římskokatolické 1) Roman Catholic 
2) Českobratrské evangelické 2) Czech-Brethren Evangelical Church 
3) Československé husitské 3) Czechoslovak Hussite 
4) Ostatní křesťanské, vypište:.................... 4) Other Christian, write down....  
5) Ostatní mimokřesťanské, vypište:............. 5) Other non-Christian, write down.... 
6) Žádné 6) None 

Codes/ 
Categories 

8) Neví 8) Don’t know  
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9) Neodpověděl 9) No answer  

Note "other" answers at S28 value 4 and 5 coded into separate string variables and 
recoded into RELIG  

Interviewer 
Instruction 

POKYN: PŘEDLOŽTE KARTU 38 A 
VYZNAČTE JEDNU ODPOVĚĎ! 

INSTRUCTION: SHOW CARD 38 AND 
TICK ONE ANSWER ONLY! 

Filter Variable(s) and Conditions: 
 

Construction/Recoding: 
Country Variable Codes/Construction Rules Î RELIG 

6) None 0. No religion  
1) Roman Catholic 100. Roman Catholic 
2) Czech-Brethren Evangelical Church 
other evangelical at S284j 

200. Protestant 

..... 
Lutheran at S284j 250. Lutheran 
.... 

3) Czechoslovak Hussite 296. CZ:Hussites  
.... 
Russian orthodox (S28=4 and S284j =Russian orthodox) 320. Russian Orthodox 
 390. Orthodox (no specific religion 

mentioned)  
4) Other Christian 400. Other Christian Religions 
..... 

Buddhism at S285j 700. Buddhism 
.... 
5) Other non-Christian, write down.... 960. Other Religions 
..... 
8) Don’t know 998. Don’t know 
9) No answer 999. No answer 

Optional: Recoding Syntax 
compute RELIG=s28. 
recode RELIG (1=100)(2=200)(3=296)(4=400)(5=960)(6=0)(8=998)(9=999). 
if (id=1021 or id=902 or id=878)RELIG=320. 
if (id=1062 or id=1099)RELIG=200. 
if (id=1111)RELIG=250. 
if (id=1069 or id=278)RELIG=700. 

 

RELIGGRP- Religious main-group derived from RELIG 

 National Language English Translation 
Question no. 
and text 

S28. K jakému náboženskému vyznání se 
hlásíte? 

S28. What is your religious affiliation? 

1) Římskokatolické 1) Roman Catholic 
2) Českobratrské evangelické 2) Czech-Brethren Evangelical Church 
3) Československé husitské 3) Czechoslovak Hussite 
4) Ostatní křesťanské, vypište:.................... 4) Other Christian, write down....  
5) Ostatní mimokřesťanské, vypište:............. 5) Other non-Christian, write down.... 
6) Žádné 6) None 
8) Neví 8) Don’t know  

Codes/ 
Categories 

9) Neodpověděl 9) No answer  
Interviewer 
Instruction 

POKYN: PŘEDLOŽTE KARTU 38 A 
VYZNAČTE JEDNU ODPOVĚĎ! 

NSTRUCTIONS: SHOW CARD 38 AND 
TICK ONE ANSWER ONLY! 
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Translation 
Note 

 

Note "other" answers at S28 value 4 and 5 coded into separate string variables and 
recoded also into RELIGGRP  

Filter Variable(s) and Conditions: 
 

Construction/Recoding: 
Country Variable Codes/Construction Rules Î RELIGGRP 

6) None 45. No religion 
1) Roman Catholic 46. Roman Catholic 
2) Czech-Brethren Evangelical Church 
3) Czechoslovak Hussite 
Lutheran 
other evangelical 

47. Protestant 

russian orthodox 48. Chrstian Orthodox  
 49. Jewish 
 50. Islam 
buddhism 51. Buddhism 
 52. Hinduism  
4) Other Christian 53. Other Christian Religions 
 54. Other Eastern Religions 
5) Other non-Christian 55. Other Religions 
8) Don’t know 102. Don’t know 
9) No answer 99. No answer 

Optional: Recoding Syntax 
compute RELIGGRP=RELIG. 
recode RELIGGRP (100=2)(200 250 296=3)(400=9) 
(700=7)(960=11)(0=1)(998=98)(999=99). 

 
 

TOPBOT- R: Top-Bottom self-placement 
 National Language English Translation 
Question no. 
and text 

S27. V naší společnosti jsou skupiny, 
kterým je přisuzováno vysoké sociální 
postavení a naopak skupiny s nízkým 
sociálním postavením. Kam byste se Vy 
osobně zařadil/a na následující škále? 

S27. In our society, there are groups 
which are considered to have high social 
status and on contrary groups of low 
social status. Where would you place 
yourself on this scale? 

Codes/ 
Categories 

 

Nízké sociální 
postavení     Vysoké sociální 

postavení Neví 

Neo
dpo-
vědě

l/a 
   1 2 3 4 5 6 7 8 9 10 98 99 
            

� � � � � � � � � � � � 
 

Low social status     High social status DK NA 
   1 2 3 4 5 6 7 8 9 10 98 99 
            

� � � � � � � � � � � �  
Interviewer 
Instruction 

POKYN: PŘEDLOŽTE KARTU 37 A 
VYZNAČTE JEDNU ODPOVĚĎ! 

INSTRUCTION: SHOW CARD 37 AND 
TICK ONE ANSWER ONLY! 

Translation 
Note 

 

Note  

Filter Variable(s) and Conditions: 
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Construction/Recoding: 
Country Variable Codes/Construction Rules Î TOPBOT 

1. Lowest, 01 1. Lowest, 01 
2. 2. 
3. 3. 
4. 4. 
5. 5. 
6. 6. 
7. 7. 
8. 8. 
9. 9. 
10. Highest, 10 10. Highest, 10 
98. Do not know 
99. No answer 

99. No answer 

Optional: Recoding Syntax 
compute TOPBOT=s27. 

 
CZ_REG – Region – country specific 

 National Language English Translation 
Note • No question. Recorded by the SC&C based on system of distribution of questionnaires. 

 
• CZ_REG includes NUTS 3 classification, which respects legal administrative division 

into regions. NUTS 3 (regions) significantly differ in their sizes - NUTS 2 (areas) more 
correspond one to another and also to EU average. For information on NUTS and their 
possible conversion see the EUROSTAT at 
http://europa.eu.int/comm/eurostat/ramon/nuts/codelist_en.cfm  

Filter Variable(s) and Conditions: 
 

Construction/Recoding: 
Country Variable Codes/Construction Rules Î CZ_REG 

01  'Prague' 01  'Prague' 
02  'Central Bohemia' 02  'Central Bohemia' 
03  'South Bohemia' 03  'South Bohemia' 
04  'Pilsen' 04  'Pilsen' 
05  'Carlsbad' 05  'Carlsbad' 
06  'Usti n/L' 06  'Usti n/L' 
07  'Liberec' 07  'Liberec' 
08  'Hradec Kralove' 08  'Hradec Kralove' 
09  'Pardubice' 09  'Pardubice' 
10  'Vysocina' 10  'Vysocina' 
11  'South Moravia' 11  'South Moravia' 
12  'Olomouc' 12  'Olomouc' 
14  'Moravia-Silesia' 13  'Moravia-Silesia' 
13  'Zlin' 14  'Zlin' 

Optional: Recoding Syntax 
compute CZ_REG=kraj. 
recode CZ_REG (13=14)(14=13). 

 

CZ_SIZE - Size of community - country-specific 
 National Language English Translation 
Question no. S20. Do jaké velikostní kategorie patří S20. What size category does the 
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and text obec, ve které bydlíte? community you live in belong to? 
1. Vesnice s méně než 1.000 obyvateli 1] Village with less than 1.000 inhabitants 
2. Obec s 1.000 až 2.000 obyvateli 2] Village with 1.000 - 2.000 inhabitants 
3. Větší obec (2.000 až 5.000 obyvatel) 3] Larger village (2.000 - 5.000 inhabitants) 
4. Malé město (5.000 až 10.000 obyvatel) 4] Small town (5.000 -10.000 inhabitants) 
5. Větší město (10.000 až 50.000 obyvatel) 5] Larger town (10.000 - 50.000 inhabitants) 
6. Velké město (50.000 až 100.000 

obyvatel) 
6] Large city (50.000 - 100.000 inhabitants) 

7. Město nad 100.000 obyvatel, nikoliv 
však Praha 

7] City with more than 100.000 inhabitants, 
other than Prague 

Codes/ 
Categories 

8. Praha 8] Prague 

Interviewer 
Instruction 

POKYN: PŘEDLOŽTE KARTU 32 A 
VYZNAČTE POUZE JEDINOU ODPOVĚĎ. 

INSTRUCTION: SHOW CARD 32 AND 
TICK ONE ANSWER ONLY! 

Translation 
Note 

 

Note  

Filter Variable(s) and Conditions: 
 

Construction/Recoding: 
Country Variable Codes/Construction Rules Î nat_SIZE 

08  '1,2 Mill. (Prague)' 01  '1,2 Mill. (Prague)' 
07  '100 000+' 02  '100 000+' 
06  ' 50 000- 99 999' 03  ' 50 000- 99 999' 
05  ' 10 000- 49 999' 04  ' 10 000- 49 999' 
04  '  5 000-  9 999' 05  '  5 000-  9 999' 
03  '  2 000-  4 999' 06  '  2 000-  4 999' 
02  '  1 000-  1 999' 07  '  1 000-  1 999' 
01  'Less than 1 000' 08  'Less than 1 000' 
99  'NA' 99  'NA' 
 00  'NAV' . 

Optional: Recoding Syntax 
compute CZ_SIZE=s20. 
recode CZ_SIZE (lo thru 0 sysmis = 99)(1=8)(2=7)(3=6)(4=5)(5=4)(6=3)(7=2)(8=1). 

 

 

URBRURAL - Urban - Rural 
 National Language English Translation 
Question no. 
and text 

S21.Jak byste popsal místo, ve kterém 
žijete?  
Jedná se o  ….. 

S22. How would you describe location 
you live in? 
Is it.... 

1. Velké město 1. A big city 
2. Předměstí velkého města nebo sídlo  

v bezprostřední blízkosti velkého města 
2. Suburbs or outskirts of a big city 

3. Menší město 3. Town or a small city 
4. Vesnice 4. Country village 
5. Samota 5. Individual home in the country 
6. Jiný typ sídla, 
vypište:....................................... 

6. Other type of community, write down... 

Codes/ 
Categories 

8. Neví 8. Do not know 
Interviewer 
Instruction 

POKYN: PŘEDLOŽTE KARTU 33 A 
VYZNAČTE POUZE JEDINOU ODPOVĚĎ. 

INSTRUCTION: SHOW CARD 33 AND 
TICK ONE ANSWER ONLY! 

Translation 
Note 

in Czech language there is no single word for outskirts, that is why periphrastic translation 
was used: community in the immediate vicinity of a big city 

Note  

Filter Variable(s) and Conditions: 
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Construction/Recoding: 
Country Variable Codes/Construction Rules Î URBRURAL 

1. A big city 1. Urban, a big city 
2. Suburbs or outskirts of a big city 2. Suburbs or outskirts of a big city 
3. Town or a small city 3. Town or a small city 
4. Country village 
6. Other type of community: "strediskova obec" 

4. Country village 

5. Individual home in the country 5. Farm or home in the country 
8. Do not know 9. No answer 
 0. Not available 

Optional: Recoding Syntax 
compute URBRURAL=s21. 
recode URBRURAL (lo thru 0 6 8 9=9). 

 

 

WEIGHT – Weighting factor 

No  � Design weight 
to adjust for 
unequal 
selection 
probabilities 

Yes 

 

�  
design weights based on proportion of 
household sizes. 

No  �  Weight to 
adjust for 
non-response 
bias Yes �→please specify variables used for 

calculation of weight 

 
Post-stratification weights based on region, 
sex, education, age, economical activity, and 
size of the community. The weights were 
derived from data of the Czech Statistical 
Office. Method: raking based on loglinear 
modelling. 

 

No  �  Sum of the 
final weights 
changes net 
sample size 
(rescaling) 

Yes �→please specify target population of 
rescaling 
 

 
Note  

Variable WEIGHT include total weight, which was constructed from design and post-
stratification weights. 
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MODE – Administrative mode of data-collection (OR Data collection method) 
Note  

 
 

Construction/Recoding: 
Country Variable Codes/Construction Rules Î Mode 

 10. F2f, pap a pencil, no visuals 
FACE to FACE, paper and pencil, show cards 11. F2f, pap a pencil, visuals 
 12. F2f, pap a pencil, R reading 

questionnaire 
 13. F2f, pap a pencil, interpreter or 

translator – no visuals 
 14. F2f, pap a pencil, interpreter or 

translator – visuals 
 20. F2f, comp assisted, no visuals 
 21. F2f, comp assisted, visuals 
 22. F2f, comp assisted, R reading 

questionnaire (paper or on monitor) 
 23. F2f, comp assisted, interpreter or 

translator – no visuals 
 24. F2f, comp assisted, interpreter or 

translator – visuals 
 30. Self-compl, pap a pencil, arrives 

with interviewer, interviewer attending 
 31. Self-compl, pap a pencil, arrives 

with interviewer, drops-off, picks up 
later 

 32. Self-compl, pap a pencil, arrives 
with interviewer, drops off, mailed 
back by R 

 33. Self-compl, pap a pencil, mailed 
to, complete and hold for pick up 

 34. Self-compl, pap a pencil, mailed 
to, mailed back by R 

 99. NA 
 0. NAV 

 

 

Optional ISSP Background Variable 
ETHNIC - Origin country / ethnic group / ethnic identity / family origin 

 National Language English Translation 
Question no. 
and text 

  

  
  

Codes/ 
Categories 

  
Interviewer 
Instruction 

  

Translation 
Note 

 

Note not used 
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4. Country Questionnaire 
Please provide the part(s) of your country questionnaire that relate(s) to the background 
variables reported in this template. If these variables are already covered by your country’s 
field questionnaire delivered with your national ISSP data file, then just tick on the last page 
of this document. (PDF or MS Word format preferred.) 
[X] Already included in field questionnaire provided with the country data file. 
[  ] Attached file: XXXXX.XXX 

5. Frequency Distributions of Source Variables 
Please supply frequency distributions with absolute and relative frequencies, missing values 
included, for all source variables. Source variables are the country-specific variables before 
recodes into ISSP standard variables are done. (MS Word or simple ASCII file preferred.) 
Attached file: Czech06bv_fre.doc. 

6. Correspondence list ISCO88<->national occupation codes 
If your country derives ISCO88 codes from a national occupation coding scheme, please 
supply a correspondence list of national codes and ISCO88 codes. (MS Word or simple 
ASCII file preferred.) 
[  ] ISCO88 is used to code responses directly. 
[X] Conversion of national coding scheme to ISCO88. Attached file: Czech06bv_isco.txt. 
 




